Dopma Ne 3 KOHTPOJIBHOI'O 3AMEPA now Jara 15.12.2021r.
1 yac 2 yac 3 yac 4 yac
Tonoxenue | IMocrosuube
anmand noTepH TOK | +akr [+ peak| Tok | + akr *peak| Tok | *axr [+peak| Tok | +akr + peak
Awn | MBr [MBAp| Amn | MBr |MBAp| Awmn | MBr MBAp| Amn | MBr |MBAp
110 kB APxx 0,017] 0,175 0,034 ] 0,043 ] 0,169 [ 0,033 0,038 1 0,153 [ 0,030 0,042 ] 0,159 | 0,031 | 0,040
Ne | AQxx 0,078
16 6 kB 4. 9 10,0180 0,00 9 10,0144 0,00 9 10,0180 0,00 9 [0,0144| 0,00
MBA PITH 8
110 kB APxx 0,017] 0,858 | 0,167 [ 0,047 | 0.867 10,169 | 0,050 0,859 | 0,168 | 0,047 0,855 [ 0,167 | 0,045
Ne2 AQxx 0,078
b 16 6 kB 4.9 15 (0,148 ] 0,047] 15 10,151 005 | 17 [0151[0,054] 16 Jo0,148 [ 0,047
g | MBA PITH 6
<
z APxx
] M AQxx
Q
3
2| E] mBa
Q =]
g = APxx
< Ne
g AQXX
g
] MBA PITH
= 110 kB 1 0,20 | 0,09 1 0,20 | 0,09 1 0,20 | 0,09 1 0,20 | 0,09
E Hroro:
z 6 kB 24 1017 10051 24 [0,17 [005[ 26 017 1 005 | 25 | 0,16 | 0,05
3 TOK | +aKT |+ peak| TOk | =+ akT +peak| Tok | *axr +peak| Tok | *akr + peak
H: JI311
g HBAEEJIIIL i gunepos Avn | MBr [MBAp] Awn | MBr |MBAp| Awn | MBr |MBAp| Awn | MBr [MBAp
2 1C-6 kB
5 | - [AKHH q4.2 9 0,098 9] 0,098 10| 0,11 9] 0,098
s|e 2C-6 kB
g § [em 6 0 0 o o o o oo
£z 3C-6 kB
8 E Munu TOL] a4.3.1 11 10,115 11_[o0,115 11 10,115 11 _[0,115
§ g [Bs.1 IIC Kucnornas .15 74.3.3 28 [ 0,294 30 (0,313 29 ]0,303 29 | 0,304
5 | 2 [rvel 1600kBA KTTTHOBLPB2 | 5935 o | o o | o o | o 0] o
Q -]
E ng TNel 250BA TITH.Mennas | 54.3.9 1 0,01 1 0,01 1 0,01 1 0,01
8 S |TNel 630kBAKTITLIPB-2  [44.3.13 3 10,031 3 |0,031 3 10,031 3 [0,031
5 | = Hroro 3C 0,04 0 4 0,04 0 4 0,04 0 4 0,04 0
g- e FC-U
e 5
§ oS |TNe2 630kBAKTIILIPB-2 | sud .4 2 0,02 2 0,02 2 0,02 2 0,02
| « [TNe2 250xBA TIT H. Megtian 14.4.6 2 0,02 2 0,02 2 0,02 2 | 002
= | S |t~z 1600xBA KTTIHOBLPB2 14.4.14 4 | 047 4 | 047 49 | 0,52 49 ] 052
:. = |Munu T3I] 14.4.16 16 | 0,17 16 | 0,17 18 ] 0,19 18 | 0,19
% § Hroro 4C 64 | 0,51 0 64 | 0,51 0 71| 0,56 0 71 | 0,56 0
X Q
< =
o =
o (@)
==
Ak
g
>
2
g
g
% Harpyska CK, MBAp Ne
:. Barapes CK, MBAp No
= 110 kB, 1CIII 116,87 117,59 117,27 116,87
E 110 kB, 2CIII 116,87 117,43 117,27 116,95
£ | Hanpsxenue 6 B, 1CLI 6,5221 6,574 6,574 6,5394
g Ha IIHHAX 6 kB, 2CLI 6,3145 6,3491 6,3318 6,3318
§ 6 kB, 3CIII 6,2972 6,2972 6,2626 6,2626
5 6 B, 4CIII 6,4183 6,3837 6,3837 6,3664
= Ne 1 0,62 0,66 0,577 0,612
No 2 0,963 0,958 0,964 0,966
Cos @ o
Ne
e A Prep + A jQnep 1E-07 +j 2E-06|7E-08 +] 1E-06|1E07 = J__2E06|7E-08 +j 1E-06
sz (bopMaTopaS( A Prep + A jQnep 8E06 +j 2E-04]|8E-06 +j 2E04|8E06 =+ J 2E-04|8E-06 +j 2E-04
MBA ’ APnep+A_?Qnep +j +j +j +j
A Prep + A jOnep +i +j +j +
Ux,% APx3, MBr SxT1 003 +j 008003 +j 008] 003 < J 0081003 +j 0,08
T-1] 10,24 0,0821 SxT2 000 +j 000]000 +j 000000 = J 000000 +j 0,00
T-2] 10,34 0,0821 Swets +j +j +j +j
Sxera +j +j +j + i
Sz 003 +j 008]003 +ji 0,08] 0,03 +j 0081003 +j 0,08
3amep nposen
[IPUMEYAHHUE: * HanpaBJIeHHE 110TOKA K IUMHAM I/cT - HanpasJieH1e NOTOKA OT LIMH 1/cT

nasHbIit 3HepreTuk

ﬁ_,—

O.A. Bop3ayHos



S yac 6 yac 7 yac 8 uac 9 yac 10 yac 11 yac
TOK | +aKT [+ peak| Tok | +akr *peak| Tok | +akr |+peak| Tok | +akT *peak| Tok | *akr |+peak| Tok | *akr +peak| TOK | *aKT [* peak
Amn | MBt [MBAp| Amn | MBr MBAp| Amn | MBt {MBAp| Amn | MBr MBAp] Amn | MBt [MBAp| Amn | MBr MBAp] Amn | MBt |MBAp
0.177 | 0,035 ) 0,039 ] 0,178 | 0,035 | 0,037 [ 0,175 | 0,034 | 0,041 0,144 1 0,028 | 0,042 ] 0,176 | 0,034 | 0,042 | 0,173 [ 0,034 | 0,042 [ 0,176 | 0,034 | 0.042
5_100180] 000 | 9 fo.0144] 0,00 | 10 TJo,0180] 0.00 | 10 Q.0144] 000 1 9 J00180f 0,00 ] 9 Jo.0144] 000 | 9 T0,0144] 0,00
0,857 [ 0,169 [ 0,048 | 0,844 [ 0,166 | 0,052 0,852 | 0,166 | 0,052 [0,875 [ 0,170 | 0,048 [ 0,914 [0,177] 0,051 [ 0,888 [ 0,175 | 0,043 | 0.879 | 0.17 [ 0,048
15 10148 005 | 15 Jo.151] 00471 16 [0.148 [ 0504 ] 17 To0.151] 0,05 | 17 [ 015810054 ] 17 J0,158T0,054] 17 ]0.155] 0.054
1 10201009] 1 [020[009] 1 [020]009] 1 Joz20]009] 1 0,21 | 0,09 1 021 {009 ] 1 [o020] 0,09
24 1017 1005) 24 | 017 ]005] 26 017 ] 050 27 | 017 0051 26 | 018 | 005 | 26 | 0,17 [ 005 ] 26 [ 0,17 [ 0,05
TOK [ +akT [+peak| Tok | *akr [+peak| Tok | +akr +peak| Tok | xakr [+peak| Tok | + akT =peak| TOK | +aKT (+peak| TOk | *akT |+ peak
Aun | MBr [MBAp| Awn | MBt |MBAp| Awn | MBr [MBAp| Aun | MBr MBAp] Amn | MBr |MBAp| Amn | MBr [MBAp| Aun | MBr |MBAp
9[ 0,099 9] 0,099 9] 0,098 9] 0,008 9[ 0,097 9[ 0,099 0 0
0 0 0 0 0 0 0 0 0 0 0 0 0 0
11 _[0,116 11 10,116 10 0,104 11_]0,114 2 10,021 2 {0,021 2 {0,021
29 10,306 29 0,305 27 (0279 27 | 0,281 2 0,021 2 0,01 2 ]0,021
0 0 0 0 0 0 0 0 0 0 0 0 0 0
1 |oo011 1 |0011 1 | 001 1 ] 0,01 1 | 001 0 0 0 0
3 [0,032 3 [0,032 4 [0,041 4 10,042 3 [0,031 3 (0,032 0 0
4 [004] 0 4 (004 ] 0 5 [005] o 5 [005] o 4 (004 0 3 1003 o 0 [o000] o
2[00 3 10,03 2 ] 0,02 2 [002 1 1001 2 1002 3 1003
2 002 2 ]0,02 2 [ 0,02 2 | 0,02 2 | 0,02 1 | 0,01 1] 001
50 [ 0,53 49 | 0,52 50 | 0,53 50 [ 0,53 2 0,02 25 | 0,26 25 ] 0,26
18 | 0,19 18 10,19 18 | 0,19 18 ] 0,19 2 | 0,02 9 [0,10 10 ] 0,10
72 [058] o 72 1058 o0 72 1057 o 72 1057 o 7 1005 o 37 /03] o 39 1030 o0
118,64 1192 117,5 116,79 116,3 117,27 116,14
118,24 118,88 117,27 116,46 116,14 116,87 116,63
6,6086 6,6605 6,574 6,5221 6,5048 6,5221 6,5394
6,3837 6,401 6,3491 6,2972 6,2626 6,2972 6,3145
6,3491 6,3664 6,2453 6,2453 6,2799 6,3145 6,3145
6,4183 6,4702 6,3491 6,3318 6,3145 6,2972 6,2972
0,672 0,688 0,638 0,549 0,627 0,621 0,585
0,961 0,954 0,958 0,962 0,962 0,971 0,963
IE-07 +j 2E-06]|7E-08 +j 1E-06]1E-07 +] 2E-06|7E.08 + J 1E-06f1E-07 +j 2E-06|7E-08 +j 1E-06|7E-08 +j 1B-06
8E06 +j 2E-0418E-06 +j 2E-04J9E-05 +j 0002|8606 + J 2B-04§9B-06 +j 2E-04|9E-06 +j 2E-04|9E-06 <+ 2B-04
+j +j +j +j +j + j +j
+ +j +j +j +j +j + j
003 +j 008]003 +j 008]003 +j 008 003 +j 008)005 +j 008]003 +j 008]003 = j 0,08
000 +j 000)000 +j 000] 000 + j 0000000 +j 000000 +j 000000 + j 000]000 +j 0,00
+j +j +j +j +j +j +j
+j +j +j +j +j +j +j
903 +j 0081003 +j 008]005 +j o008 003 +j 0081003 +j 008003 +j 008] 003 +j 0,08




12 yac 13 yac 14 yac 15 yac 16 yac 17 yac 18 yac
TOK | +aKT [+peak| Tok | +akr *peak| Tok | *akr *peak| Tok | *akr [+peak| Tok | +akr +peak| Tok | *akr |+peak| Tox | +akr + peak
Amn | MBt MBAp| Amn | MBr MBAp| Amn | MBt MBAp] Amn | MBr MBAp| Amn | MBt MBAp] Amn | MBt MBAp| Amn | MBr MBAp
0,155 ] 0,030 | 0,046 0,164 { 0,033 | 0,044 1,561 ] 0,310 | 0,045 | 0,150 0,030 { 0,047 § 0,165 | 0,033 0,041 1 0,168 | 0,034 | 0,041 0,169 [ 0,034 | 0,044
9 10,0180| 0,00 10 [0,0144] 0,00 10 10,0180 0,00 9 [0,0144 0,00 9 10,0144 0,00 9 0,018 | 0,00 10 [0,0144] 0,00
0,884 | 0,171 | 0,048 39,476] 7,946 | 0,627 40,125 7,970 | 0,668 39,781] 7,936 | 0,628 46,631 9,344 | 0,59 [41,728] 8,431 | 0,22 ]43,018] 8,667 | 0,101
16 10,155 [0,054 | 754 [ 5,836 [ 0,144 | 768 17.967] 0 [ 741 17971 0 | 883 | 7.924 [ 0,004 | 789 ] 8.669 ] 0.086 | 825 18489 ] 0
1 020 | 0,09 | 40 [ 798 [ 067 [ 42 828 1071 | 40 | 797 [ 068 ] 47 | 9.3 063 | 42 | 847 [ 026 ] 43 [870 | 0.15
25 0,17 | 0,05 | 764 5,85 | 0,14 | 778 7,98 | 0,00 | 756 | 7,98 0,00 § 892 [ 7,94 | 0,00 | 798 869 | 0,09 | 835 [ 8,50 0,00
TOK | +aKT |+peak| Tok | +akr +peak| TOk | =+ akr *peak| ToK | +akr tpeak| Tok | *akr +peak| Tok | +akt +peak| Tok | +akr + peak
Amn | MBt [MBAp| Amn | MBr MBAp] Amn | MBt MBAp| Amn | MBr MBAp| Amn | MBr MBAp| Amn | MBt MBAp| Amn | MBt MBAp
9] 0,097 0 0 9 o1 0 0 9[ 0,101 9] 0,102 9] 0,101
0 0 741 50,69 744] 4951 731 49,6 873] 59,89 783 543 805] 55,07
100,104 10 {0,109 10_[0,107 13 | 0,14 12 | 0,13 13 [0,141 14 0,151
24 ] 0,251 26 | 0,282 26 | 0,279 33 10356 32 (0,348 33 (0,359 33 10,356
0 0 0 0 0 0 0 0 0 0 0 0 0 0
1 0,01 1 10,011 0 0 0 0 1 10,011 1 [0011 1 ]0,011
6 0,063 4 10,043 3 10,032 6 ]0,065 3 10,033 5 10,054 6 10,065
7 0,07 0 5 0,05 0 3 0,03 0 6 0,06 0 4 0,04 0 6 0,07 0 7 0,08 Oj
3 10,03 8 10,09 8 | 0,09 9 |ol0 8 10,09 12 ] 0,13 13 | 0,14
1 0,01 1 0,01 1 0,01 1 0,01 1 0,01 2 0,02 2 0,02
48 0,50 50 0,54 50 0,53 50 0,54 49 0,53 52 0,57 53 0,58
18 0,19 20 0,22 20 0,21 20 0,22 19 0,21 22 0,24 23 0,25
70 1054 ] o 79 1064 0 79 [ 063] 0 80 | o065 o0 77 1063 0 88 (073 ] o 91 075 ] o |
115,98 116,7 115,16 115,66 116,06 116,79 116,46
116 116,8 115,34 115,25 115,42 116,71 116,06
6,4702 6,5221 6,4529 6,4702 6,4875 6,5567 6,4875
6,2453 6,3318 6,2626 6,2626 6,02107 6,3318 6,2453
6,2626 6,2972 6,2107 6,2626 6,2972 6,2799 6,228
6,228 6,2799 6,1934 6,2626 6,2972 6,3837 6,3491
0,546 0,606 0,562 0,541 0,628 0,637 0,606
0,964 0,997 0,997 0,997 0,998 1 1
1E07 +j 2B-06|7E-08 +j 1E-06]1E07 = i 2B06/7E08 +j IE-06]7E08 +j 1E-06|1E07 j_ 2E06]7E-08 +j 1E-06
9E-06 +j 2B-04]0011 +j 022 002 +j 0416002 +j o0411] 002 =+ J 040610024 +j 048]0023 +j 0466
+i +) tj tj Rl ] *J
+_j -+-j +_|' +j +_j +_j +j
003 +j 008]003 +i 008] o003 = i 0081003 +j 008]005 +; 003 003 +j 008003 +j 008
000 +j 000000 +j 000|000 = J 0001000 +j 000000 +j 000 000 +j 000]000 +j 0,00
+j +j +j +j +j +j +j
+ +j + +j +j + + ]
005 +j 0081003 +i 008003 i 0,08 1003 +j 008]003 +j 008 003 +j 0081003 +i 0,08




19 yac 20 yac 21 yac 22 yac 23 yac 24 yac
TOK | +aKT |+ peak| Tok | + akr +peak| Tok | * akr tpeak| TOK | +akr tpeak| TOK | % akT +peak] Tok | % akT + peak
AMn | MBt MBAp| Amn | MBt MBAp| Amn | MBT MBAp| Amn | MBt MBAp| Amn | MBT MBAp| Amn | MBt MBAp
0.168 | 0,034 | 0,045 | 0,150 ] 0,030 | 0,044 0,164 ] 0,033 | 0,040 | 0,169 [ 0,034 [ 0,042 0,174 | 0,035 | 0,045 ] 0,167 [ 0,034 | 0,048
10_10,0180] 0,00 | 9 TJo,0144] 0.00 | 9 0.0144) 0,00 | 10 [o0.018[ 0,00 [ 10 0,194 | 0,00 | 10 [0,018] 0,00
43,534[ 8,802 [ 0,166 44,476/ 8,902 [ 0,300 42,628 8,565 | 0,106 43,654 8,808 | 0,066 44,026 8,864 [ 0,252 43,857/ 8,944 | 0,289
820 [8683] 0 [ 837 [8752] 0 809 183899 0,04 | 827 18719] 0 832 |8388 0,004 837 18,902 [ 0,014
44 18841021 ]| 45 [893 [ 034 | 43 860 1 0,15 | 44 | 884 [ 0,11 | 44 | 8.90 030 ] 44 [ 898 [ 034
830 | 870 | 0,00 | 846 | 877 | 0.00 | 818 891 | 0,04 | 837 | 874 | 0,00 | 842 | 8.58 0,00 | 847 [ 892 [ 0,01
TOK | +aKT |+ peak| Tok | + akr *peak| TOoK |+ akr *peak| Tok | *akr +peak] TOK | = akr £peak| ToK | % akT + peak
Amn | MBt (MBAp| Amn | MBT MBAp| Amn | MBt MBAp| Amn | MBr MBAp| Amn | MBr MBAp] Avn | MBr |MBAp
9[ 0,102 9 [ 0,101 9] 0,102 9 [ 0,102 9] 0,102 9 [ 0,102
810[ 56,18 820 | 56,41 794] 54,62 811 | 55,48 816] 55,97 825 | 57,53
14 10,153 14 10,152 14 10,151 14 0,151 14 10,15 14 10,152
34 | 037 33 |0,358 33 10,357 33 10,356 34 ]0,365 33 0,359
0 0 0 0 0 0 0 0 0 0 0 0
1 [o0011 0 0 1 ]0,011 1 ]o011 1 |o,011 0,011
8 10,087 8 [0,087 5 10,054 8 [0,086 8 10,086 8 0,087
9 [o010] o 8 [009] o 6 |006] o 9 [o010] o 9 [o10] o 9 [o10] o
13 | 0,14 12 | 0,13 13 | 0,14 12 | 0,13 13 | 0,14 13 | 014
2 002 2 (002 2 1002 2 1002 2 [ 002 2 ] 0,02
55 | 0,61 55 | 0,60 53 | 058 54 | 0,59 53 [ 059 53 | 059
24 | 026 24 ] 026 23 | 025 23 025 23 ] 025 23 | 025
9 1077] o 93 [076 ] o 91 (075 o 91 075 o 91 1075 o 91 1075 o
116,87 115,81 116,14 116,63 116,38 118
116,71 116,54 116,06 116,59 116,63 117,67
6,5394 6,4702 6,5221 6,5394 6,574 6,574
6,2799 6,2453 6,2626 6,2799 6,2972 6,3318
6,2972 6,2799 6,2453 6,228 6,2107 6,2972
6,3664 6,3318 6,3664 6,3491 6,3837 6,401
0,607 0,56 0,645 0,627 0,614 0,583
1 0,999 1,000 1 1 0,999
IE07 +j 2E-06|7E-08 +j 1E-06]7E.08 = i 1E-06J1E-07 +j 2E-06|1E-05 +; 2E.04]1B07 3 j  2E-06
0.024 +j 0487010025 +j 0495|0025 =+ i 051210024 +j 04910023 +j 0455 0,025 +j 0512
+) ti Rl +] tJ tj
izl +i +i +J tj +
003 +j 008]003 +j o008 003 +j 008]003 +j 008021 = J_008]003 +j 0,08
0.00 +j 000]000 +j 000 000 +j 000000 +j o000 000 +j 000]000 +i 000
+j tj tj t] +j |
+ +j tj t ) t
003 +j 008]005 +j o008] 003 = i 0081003 +j 008021 +j 0,08 ] 0,03 +j 0,08




